W H gy,
\\\\\\\P:‘ € OF
S

RO
J rg,

Reviewed for Code Compliance
Inspections Division
Approved with Conditions

. 05/28/14

SISTERED 6" OUTRIGGER RUNNING
PARALLEL TO ROOF FRAMING, SEE F/S2.1

BENT STANDING SEAM ROOF.
SEE ARCH.

2" CURVED RIGID INSUL

BENT STANDING SEAM ROOF. BENT STANDING SEAM ROOF.

SEE ARCH. SEE ARCH.
1/2" BENT PLYWOOD
2" CURVED RIGID INSUL 2" CURVED RIGID INSUL
FIN PLATE TO HSS BEAM
6" METAL STUD OUTRIGGER
1/2" BENT SHEATHING TOP AND BOT OF 1/2" BENT SHEATHING TOP AND BOT OF
ADD'L 22GA BENT PLATE CLIP 22 GA BENT PLATE CLIP AND
AND FASTENERS SIMILAR 7O ROOF OVERHANG -TYP UNO. ASTTINLRS PER PLAN. ROOF OVERHANG -TYP UNO.
TYP AT LAST JOIST BEFORE
ROOF OVERHANG, CURVED HSS6x6x1/4" OUTRIGGER W/ 6" (3) LAYER 1/2" PLYWOOD BUILT-UP TORCH-CUT END OF CURVED
MIN BACK-SPAN ON HSS BEAM.6" METAL SUB-FASCIA / RIM CUT TO MATCH ROOF HSS14x6x1/2" AT CANTILEVER AS SHOWN.
TYPICAL 22 GA BENT PLATE STUD OUTRIGGER FRAMING BEYOND. PROFILE. TYPICAL 22 GA BENT PLATE y
CLIP AND FASTENERS PER , n n " " CLIP AND FASTENERS PER FILL ALL TUBE STEEL W/ SPRAY FOAM
PLAN. __JEL 6"x 6"x 1/8" THICK FIN PLATE @ 16 PLAN. INSULATION IF DESIRED BY ARCHITECT. -
O.C. FASTENED TO CURVED HSS$ &
12" METAL STUD ROOF (3) LAYER 1/2" PLYWOOD BUILT-UP ADD L2x2x5/16" EACH SIDE FROM CAP - STEEL COL W/ (6) #10 SCREWS 12" METAL STUD ROOF (3) LAYER 1/2" PLYWOOD BUILT-UP o
FRAMING SEE PLAN. SUB-FASCIA / RIM CUT TO MATCH ROOF TO BASE PLATE. 22 GA BENT PLATE CLIP AND FRAMING SEE PLAN. i SUB-FASCIA / RIM CUT TO MATCH ROOF 8
PROFILE. FASTENERS PER PLAN. 7 PROFILE. 5
1SS POST TO HSS BEAM OR T FINISHES AND GLAZING - 5
CURVED HSS6x6x1/4" BEAM C6 CHANNEL WELDED TO END OF 1/4" EXISTING 4"0 PIPE COL SEE ARCH -TYP. CURVED HSS6x6x1/4" BEAM L C6 CHANNEL WELDED TO END OF A
SEE PLAN FOR RADIUS. PROTRUDING HSS OUTRIGGER. WEB —  GISTER OUTRIGGER TO ROOE FRAMING SEE PLAN FOR RADIUS. 1T PROTRUDING HSS OUTRIGGER. WEB
PACK AS NEEDED. PACK AS NEEDED.
1SS POST TO LSS BEAM SEE PLAN W/ (2) #10 SELF-DRILLING
1/4" SELF-TAPPING SCREWS @ 10" O.C. FOR
LENGTH OF BACKSPAN. FINISHES AND GLAZING Stl'u Ct l
FINISHES AND GLAZING . SEE ARCH -TYP. ufa .
HSS POST TO HSS BEAM SEE ARCH -TYP. ADD C3x5 EACH SIDE FROM CAP TO 12" METAL STUD ROOF ntegri
1/4" FRAMING SEE PLAN
BASE PLATE : Consulting Engineers,
HSS6x6x1/4" POST HSS POST
77 Oak Street
Portand, ME, 04101
p.20‘712774-4614
SECTION (57 3/4"=1-0 .
N—r DETAIL SI—I@ 1 1 /2" — 1 '_O BUILD WITH CONFIDENCE
2. "__ ' "__ ' © 21 AsronC. Janes, FE
2L SECTION =  3/4"=1'-0 SECTION 53 3/4"=1'0 .
N a1
=
=]
1on Z SI# 13-0032
112" S
" -
a o—o ﬁré%é Nl 2|0
— L et BENT STANDING SEAM ROOF. o F12
® —1 SEE ARCH. ol 13
2" CURVED RIGID INSUL & g S
1/2" BENT PLYWOOD - Z |2
<o
W g Q
SEE PLAN 6" METAL STUD OUTRIGGER |l =%
TYP BOLTS IN HORIZ. SHORT 0 S|~
A SLOTTED HOLES PER \ﬁ‘ﬁ\‘ TTTTTTTTT \W\ TTTTTT \Tw 22 GA BENT PLATE CLIP AND q_4 (\]
. COLUMN, SEE PLAN -TYP SCHEDULE AND FASTENERS PER PLAN. | 5 &
- GENERAL NOTES. I [ % . ol =3
o 3/4"x8 1/2" x 012" CAP PLATE W/ (4) s . (3) LAYER 1/2" PLYWOOD BUILT-UP = |
o 3/4" @ BOLTS A325 BOLTS -TYP UNO. ! o ! SUB-FASCIA / RIM CUT TO MATCH ROOF 5 SRS
T N . PROFILE. 8 2=
I I . p— l\
- J RS e METAL BLOCKING AND WEB < 21
o /\_, W10, SEE PLAN = =5 . £ STIFFENERS -TYP. =  |~=
1/4 1 15" o
/ A I . T 22 GA BENT PLATE CLIP AND
b —1 —
3 1/4" FITTED STIFFENERS @ COLUMN T FASTENERS PER PLAN. Z,
b
L £ 7 CENTERLINE
WIDE FLANGE BEAMS ‘ ‘ LFIN PLATE, — FINISHES AND GLAZING O
R > ‘ ‘ SEE ARCH -TYP. .,
T ¥ SEE PLAN ~ — o
L L \\TUBE STEEL COLUMN [T————— SISTER OUTRIGGER TO ROOF FRAMING < M Nz
o SEE PLAN ’ SEE PLAN W/ (2) #10 SELF-DRILLING < > O =2
o SELF-TAPPING SCREWS @ 10" O.C. FOR . o Z < S
: : " " ' " LENGTH OF BACKSPAN. B = U «
™ 3/4"x81/2" x 012" CAP PLATE W/ Z. a = %
» (4) 3/4" @ BOLTS A325 BOLTS -TYP " [
12" METAL STUD ROOF 0
UNO. TYPICAL BEAM WEB SPLICE CONNECTION FRAMING SHE PLAN. 7, — é 3
— ok
COLUMN, SEE PLAN -TYP < > E ot %
@) 0
2 —_ o A
B A~
o} o
e O
"n ' " n_1q n_q —
SECTION @21 3/4" =10 SECTION @21 3/4"=1'-0 SECTION @21 3/4"=1'-0 =
6" METAL STUD FRAMING,
SEE PLAN
o
GYP OR POUR STOP AS —
NEEDED GRID O
NEW METAL STUD BEARING WALL . 2 e\
(2) LAYERS 3/4" OSB SHEATHING 2" RIGID INSUL 228" Sl
OFFSET PANEL EDGES -TYP. " ———————————————————————— EW THIRD FLOOR Z| D
410 x 7" SELE-DRILLING SHEATHING T SEE PLAN| ||
SELF-TAPPING SCREWS
6" @ 16" O.C.TO M ATCH@ : T 5/4" WOOD DECKING, 3 3 TOS
NEW W12x STEEL BEAM JOIST FRAMING. SEE ARCH . — T /4 STITFENER PLATE -
NEW HSS HANGER BEYOND 22-8" 22-73/4" WE SEE PLAN _ E:')
f SEiEW;LAN o ’ NEW THIRD FLOOR = NEW DECK | HSS COL. SEE PLAN. -~
__—— EXISTING DECK AND PURLINS : — P.T. 4x4 SLEEPERS @ 1'-6" I
3 TO REMAIN WHERE POSSIBLE. 7 — ¥ ‘ O.C. STIFFENER AT <
HSS TO WF 3/16" —~— 4" RIGID INSUL (30 PSI) <> . i ° — GALV. NAILS AND PAF FOR COLUMNS -TYP 1/4 :
USE CUT ROOF PURLINS TO 8" LG JOIST [ k7 C8 JOIST ERECTION .
SUPPORT METAL ROOFING Il T x4 SLEEPER =
. EDGE. 3/4" OSB, ALSO SEE GEN LV _ e eX 3/4"x8 1/2" x 0'-12" CAP ﬁ
" LA " BOL
S~ IINEOFFINISH @ OPENING SEE NOTES %@L?SGALV’ CARRIAGE 2325T EX/T?)%/{; U@NQO 1
ARCH. ' N
HSS TO ANGLE ™~ CUT BACK EXISTING ROOF PURLINS AND Z
3/16" ROOFING AS NEEDED FOR NEW SPIRAL SIMPSON TOP MOUNT 3 9
L STAIR OPENING, SEE PLAN. HANGER, -TYP @ FLUSH UNO 1/4" 11/2" 7/ '\'\ 11/2" = -
23/4" 23/4" on O
NEW SUSPENDED W8 — L
WIDE FLANGE, SEE PLAN i %)
532
s \O
Ao
n—_1! A n_1q1 | — |
SECTION LAY 3/4n=110 SECTION (B 3/4"=10 SECTION (5 3/4"=10
N N N
REV. 07-26-13 -




